Mr (GeV) | EF* (GeV) | My <75GeV | 75 < My < 105GeV | My > 105GeV
50 — 100 | 185 £36 186 | 2182 £550 2278 | 121 £25 123
100 —150 | 35+8 34 | 441 £120 429 R2E7 32
150-200 | 9+2 11 | 129+35 123 2+3 4
0-100 | 200—250 | B3+1 T | 48L13 37 | 29+08 6
250 — 400 2Ll 38
400 — 550 4+1 5 §+2 5 4+1 5
> 550 26+08 2
50—100 | 5010 60 | 388 £101 391 32+6 17
100160 | 100—150 | 15£3 19 | 72+18 61 10£2 9
150-200 | 19+£05 1 10+2 9 24107 0
>200 | 08+£03 3 5+1 8 10+04 2
50—100 | 13+3 16 | 37+8 35 9t2 9
100—-150 | 12+3 17 | 21+£5 17 7£1 3
g0 | 150—200 [31E£10 4 912 7 31£09 0
= 200—250 | 21£06 3 It1 5
250 — 400 IE1 3 25406 0
> 400 0:9+03 1 5703 1




